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GRANDSIRE DOUBLES

SHOWING THE EFFECT OF BOBS AND SINGLES
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N \’2 \k 32 ‘3/ ' ( The bell that’s plain hunting double
Q N ?/ ‘b\ \1\/‘( 3 Q \? dodges 4-5 Down becoming a
N3 | 2N 3 ﬁ/\Q \1\) working bell exactly the same as a
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z \QQ 1 ?/ \4>< 1 \A\ \3{/ 1 The bell the treble takes off the lead
?{ /f 3 t\ A \4 /f ? makes 2nds and becomes the hunt
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The bell that would have dodged 4-5
Up makes Long 3rds, that’s 4 blows
in 3rds place
If you were going to: Instead you will: Your next work is:
At a Make 3rds You are (unaffected) Dodge 4-5 down
BOB Dodge 4-5 down Double Dodge 4-5 up Make 3rds
Dodge 4-5up Make 3rds and lead again Become the hunt bell
Plain hunt Double Dodge 4-5 down Dodge 4-5 up
At a Make 3rds Make 2nds and lead again Become the hunt bell
SINGLE Dodge 4-5 down Double dodge 4-5 up Make 3rds
Dodge 4-5 up Make long 3rds (4 blows in 3rds) Dodge 4-5 down
Plain hunt Double dodge 4-5 down Dodge 4-5up




